Example C

Sample 6 | max | mark
1A 4 3 | correct value for one journey
1B 3 3 | correct individual cost FT 1A
1C 2 2 | correct time
1D 1 0 | insufficient explanation
1E 1 0 | insufficient delineation, time outside table
2 2 | all data entered (just acceptable)
1F 2 0 | incorrect check
2 0 | lines outside tolerance
2 2 | correct number of rows/plants
2A 1 1 | border space
2 2 | correct spacing
1 0 | no label / key
2B 1 1 | correct number of plants
2C 2 0 | incorrect weight used
2D 2 2 | correct value FT 2C
2E 2 0 | no reference to scale or actual/scaled lengths
3A 3 1 | 360 seen for total
3B 1 1 | correct value
3C 1 1 | acceptable to justify 'no' decision FT 1A
3D 3 0 | incorrect value and method for mean
1 1 | bar chart with means
3E 1 0 | no vertical axis label
1 1 | linear vertical scale (just acceptable)
1 0 | one bar height incorrect
3F 1 1 | just enough, comparison implied
3G 2 2 | reverse calculation checks (incorrect)3D
totals 45 26




